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* You have p pencils.
a. Rashida has twice as many pencils as you have.
How many pencils does Rashida have?
b. You give away 2 pencils.
How many pencils do you have left?
c. Rashida shares her pencils equally between herself and
4 other friends. How many pencils do they each get?
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Jo plants cherry trees, plum trees, apple trees and pear

trees. nstands for the number of cherry trees Jo plants.

a. Jo plants the same number of plum trees as cherry trees.
How many plum trees does she plant?

b. Jo plants twice as many apple trees as cherry trees.
How many apple trees does she plant?

c. Jo plants 7 more pear trees than cherry trees.
How many pear trees does she plant?

d. How many trees does Jo plant altogether?
Write your answer as simply as possible.
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* MrVarma bought napples and some oranges.

a.

b.

c.

He had 4 times as many oranges as apples.
How many oranges did he have?

He had 3 oranges left after making a pudding.
How many oranges did he use?

He used half the apples in a pie and his son
ate one. How many apples were left?
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« José has x euros and Juan has y euros.
Write equations for each of these statements.
a. Jose and Juan have a total of 2000 euros.
b. Juan has four times as many euros as Jose.
c. If Juan gave away 400 euros he would then
have three times as many euros as Jose.
d. If Juan gave 600 euros to José they would
both have the same number of euros.
e. Half of Jose’s euros is the same as two fifths
of Juan’s.




image1.png
Here are two formulae.

Pos+t+ 5V +1) A= ist+(F+1)
3 9

Work out the values of P and A when
s=1.7andt=09.
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+ The Greek mathematician Hero showed that the
area A of a triangle with sides a, b and cis given
by the formula

A=\sGE-a)5-b) -0,
wheres=3(a+b+ ).

Use Hero's formula to find
the area of this triangle.
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« The voltage Vin an electrical circuit, with current /
and resistance R, is given by the formula:
V=IR
Whatis Vwhen/=5and R=77
Whatis Rwhen V=42 and | = 37
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Find an unknown where it is not the subject of the
formula and where an equation must be solved.
For example:

+ The surface area S of a cuboid of length /,
width wand height his
S=2lw + 2lh + 2hw

Whatis hif S = 410, /= 10 and w = 57
+ The area A cm? enclosed ; - 2
by an ellipse is given by
A=mnab y

Calculate to one decimal place
thelengthacm,if b=3.2and A =25.
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« The formula for the change £C from £50 for d
compact discs at £7 eachis C = 50 - 7d.

If C =15, what is d?
« The formula for the perimeter P of a rectangle
Iby wis
P=2(l+w).

If P=20and /=7, whatis w?
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Make /or R the subject of the formula
V=IR

Make /or w the subject of the formula
P=2(+w)

Make b or hthe subject of the formulae

A=1bh V=lbh
Make rthe subject of the formulae

C=2nr A=mr?

V =nrth V=4t

Make u, a or t the subject of the formula
v=u+at

Make C the subject of the formula
F= 95£ +32

Make | the subject of the formula
T=2nV(l/g)

Make u or v the subject of the formula
1.1_1
vou f




